@ MAIRCY

MARCY RS7000
DELUXE SMITH CAGE

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual




www.puretecfitness.com 1



=========

S.com

www.puretecfitnes

(9 x 1

;g

=25

>

&

A

§

@« 1

s

N



S.com

www.puretecfitnes



=

®

24 x24

@x

Www.purete



‘\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘
@2

I

—
\EI | 5# x 1
\\ | 6# x 1

mm

o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘||||||||
" " " " "

0 1 2 3 4 5 6\)

www.puretecfitness.com




) N N N N N N

c 1 2 3 4 5 6 7T 8 9 10 11 12 13 14 1

|||||||||||||||‘|||||||||||||||‘|||||||||||||||‘|||||||||||||||‘|||||||||||||||‘||||||||||||||||
4 4 " 4 4 6/

0 1 2 3 4 )

www.puretecfitness.com



o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘||||||||
O 1!/ 2// 3!/ 4” 5// 6!

www.puretecfitness.com



: () |% {) mm

419 x 52 {09 x 4
B2

Ol ol

{07 x 104 (09 x 18

: |
@2 64 @4

<
<
£
=]
=1
=
@
-
@
Ie)
ang]
-
=
Q
2]
&z
g
o



M10

©5) .- )=
@?’

www.puretecfitness.com




..w_4

x10

M10x 2 ¥

x4

T

L

M10

-
e
L)

M10x 3~

x2

10

www.puretecfitness.com



P ol

M10

x2
x9

x1
X

©
©
H

A

® ©

X X N X X
o o X o o
— ~ (o] -~ —
= = = = =
N ~ - (ap] ~
X X X X X

RRSSI § |

® ® ©® ®

11

www.puretecfitness.com



ofe0 ol 0 m
© e = =
AN o -~ (42]
X X X X

—— 00
00 =

® 6 ® 6

|0 M_Z N N N
oy o~ L
X X N X X
o o X o o
— ~ e o) -~ ~—
= = = = =
N -~ - [ap] -~
X X X X X

1]

® ©® @0 ®

I

12

www.puretecfitness.com



X
N
<
—
o

X
—
oolc‘n

—_
X
N
©
Ja|u

www.puretecfitness.com 13




x2  M10x 3" @ ﬂ x2 o¥

X2 M10

R _

) ] BA$ ) ) ) '] A\

www.puretecfitness.com 14




fim— R © | s o

x2  M10x 23 @ x4 M10

\

: ::::]

) ) LAY ) ) A\ ) )

www.puretecfitness.com 15




&_4

M10x 2

x2

M10

x2

'(:)

M6x 3

x2

€ (wm

16

www.puretecfitness.com



o<

x2
x4

57
8

M10x
M12

x2
x2

17

www.puretecfitness.com



:»u_B

®@ Ol

M8x 2 4

x2

18

www.puretecfitness.com



x3

M10x 2~ @ ﬂ

x6 O3

www.puretecfitness.com

19



wleo ol

e e 2

M10

© ©
X X

<

* X
. ‘}4
.":"_@ O

@@@ =
®e@ ® -

3_4 3_4 :M_B 1_8
N -~ ~—
x %5 X &
m ) [ce) ~
= = = =
2 ~ A al ~
x X X X

.M_8
X
[ce]
=

x2

20

www.puretecfitness.com



M10x &~

x1

M10x 2 &

X2

M10
12-A

x10 ¢ ¥

x4

©
H
@

® ©

Y
N ~—
X X
o (@]
~ ~
= =
—

AN
x X

@ ([

@ ([ -
@ (-

@ (

21

www.puretecfitness.com




:w_oo ..M_4 foe) m
<3 © = =
[(e] © ~ <
X X X X

<
>

——©
90 = =

® & ® 6

7
N

.M_4 o< 2 ‘»I_oo
|
2 ~ ~ o|co
X X Al X _
o o X o X
~— h <o} o [<0)
= = = = =
AN ~ ~ ~ <t
x X X X X

22

www.puretecfitness.com




® @ ®

&)

M10x 2 3
M10x 2 3

M10x 2 ~

®17x

N

®

® @

®
"?@@f

www.puretecfitness.com

23




"

x1 M10x 2 +
O e

m x5 M10x 2~

x1 M10x1” @ <7 M10
2 © 1'%k 12:()@ <1
? o

@ ®O®

3/ @
) |
=

www.puretecfitness.com 24



ow_4

x4

zis
)
—

Wash — as
)\
W
\

25

e O |

M10x &

x4

www.puretecfitness.com




www.puretecfitness.com 26






www.puretecfitness.com 28



I
@) 4

'l\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

N N N N Y

@2

o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘||||||||
O 1// 2// 3// 4// 5// 6/

www.puretecfitness.com



@9

x 15

(36 x 12

39« 1

]

P

www.puretecfitness.com

4% x 1
S# x 1
6# x 1

0
0

ww

ol

0¢

L

oy 0¢€

S

IIZ
0

09

Ilg
08 0/

06

IIV
0oL

||9 llg
0L OvlL 0¢lL 0OclL OllL

L

0Ll

IIL
08l

II8
00 06l

154

0ce

\

(

30



@) @ x2  M10

www.puretecfitness.com 31




(i— R ® O] = o7

x2  M10x23 ) @ x5 M10

www.puretecfitness.com 32




® ©® ®

®

www.puretecfitness.com

33




x4 Mgx1{

@  (—

x4  M8x1 %’

@ (——

34

www.puretecfitness.com



www.puretecfitness.com 35




36

www.puretecfitnes



www.puretecfitness.com 37



Pure-Tec Limited
www.puretecfitness.com
Tel: +44 (0) 1482 212098
Email: service@puretecfitness.com

www.puretecfitness.com

38



http://www.impex-fitness.com/�

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.



